Welcome!

Do you have...?

1) your pen/pencil? —

<—2) your notebook/paper?

3) some water?
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* Probability is about if something will
happen in the future.
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* Probability is about if something will
happen in the future.

« It is a chance that something will happen.
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* Probability is about if something will ‘:
happen in the future. ;
+ It is a chance that something will happen. !
« Sometimes it's all about luck! /

/
\
________________________________________________________________



______________________;; ________________
Z \ é
Impossible Unlikely  Even Chance Likely Certain
0 *_ A 1
<< 29
" JIJ

1-in-6 Chance 4-in-5 Chance



R e T T T T T T -
O =
A
Unlikely Even Chance Likely Certain
¥ ¥
A i

DD
DIDD

1-in-6 Chance 4-in-5 Chance







L 8 N N N N &N & B N N N _ § B N N N N §B B B B N _§ § §B N N N N B _§B_§B_§B_§B 1§ J

——————————————————————————————————————

Likely Certain

A 1
DD
DD

4-in-5 Chance

Impossible Unlikely Even Chance

0 A
-

1—in:é Chance




% . Probability ona line “
N\
O o =
Impossible Unlikely Even (;hance Likely Certain

O A

1—in:é Chance




" T T T CT’r'Y’Yr'’é’Y“'’éC€“m'é'Y’éYY’TéTU'mmmm
{
Irr“.po*ssible Unlikely Even (ihance
O A

1-in-6 Chance

Certain is that something will
definitely happen.

Example: You will breathe today.




Look at the following questions.
Decide what the probability of
each one will be.

i Impossnble Unlikely
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Impossible Unlikely Even chance Likely Certain

What is the probability of
the following statement?

'You will be taller next
month'.
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Impossible Unlikely Even chance

What is the probability of
the following statement?

"You will see a dragon in
the playground’.
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Impossible Unlikely Even chance Likely Certain

What is the probability of
the following statement?

"You will go to sleep
tonight'.
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Impossible Unlikely Even chance

What is the probability of
the following statement?

'The next baby to be born
in HCMC will be a boy .
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Impossible Unlikely Even chance

What is the probability of
the following statement?

'Someone in the class will

have a birthday this month'.
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Impossible Unlikely Even chance

What is the probability of
the following statement?

'Everyone in the class will
get a 10 in their test results’.
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Impossible Unlikely Even chance Likely Certain

What is the probability of
the following statement?

'"The Sun will rise
tomorrow .
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Impossible Unlikely Even chance Likely Certain

What is the probability of
the following statement?

"1st July 2021 will be a
Thursday .
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Impossible Unlikely Even chance

What is the probability of
the following statement?

"I will get an even number
on this spinner’.
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Impossible Unlikely Even chance

What is the probability of
the following statement?

'The class will listen to their
kind and caring teacher'.
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Impossible Unlikely Even chance Likely Certain

What is the probability of
the following statement?

'Your teacher will lose
weight'.




End of Period 1



Period 2
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Impossible Unlikely Even chance Likely Certain

\4\5 a number, probability is fr‘orV
O (impossible) to 1 (certain).
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decimals
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0 1 1
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fractions
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Impossible Unlikely Even chance Likely Certain

0% 507 100%

percentages
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Impossible Unlikely Even chance Likely

0

~ 0.25 0.5 ~ 0.75

1.0
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w Here is a bag of marbles.

It contains 3 yellow marbles and 1
purple marble.

Imagine a marble is taken from
the bag without looking.

What is the probability that the
purple marble is chosen?

Give your answer as a decimal.
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Impossible Unlikely Even chance Likely Certain

O ~0.25 0.5 ~0.75 1.0
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Impossible Unlikely Even chance Likely

O ~0.25 0.5 ~0.75

0.25
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What is the probability that a
yellow marble is chosen?

Give your answer as a decimal.
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Impossible Unlikely Even chance Likely Certain

O ~0.25 0.5 ~0.75 1.0
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Impossible Unlikely Even chance Likely

O ~0.25 0.5 ~0.75

0.75
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There are twelve different
colours on a spinning wheel.
two yellow

Two orange

one red

one pink

one purple

three blue

and two green.
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What is the probability
that the spinning wheel will
land on one of the blue
colours?

Give your answer as a
decimal.
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Impossible Unlikely Even chance Likely

~ 0.25 0.5 ~0.75

3+12 =
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l
Unlikely

~0.25

| |
Even chance Likely

0.5 ~0.75

3+12=0.25

Certain

1.0
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~ Impossible Unlikely Even chance Likely Certain

~ 0.25 0.5 ~0.75 1.0

3+12=0.25

unlikely
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Impossible Unlikely Even chance Likely
O ~1 1 ~ 3
4 2 4
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How many number sides does
the dice have?

What is the probability of it
landing on humber 5? Write
your answer as a fraction.
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————————————————————————————————————————————————————————————————

How many number sides does
the dice have?

6

What is the probability of it
landing on humber 5? Write
your answer as a fraction.
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How many number sides does
the dice have?

6

What is the probability of it
landing on humber 5? Write
your answer as a fraction.

1
6
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How many number sides does the dice
have?

6

What is the probability of it landing on
an even number? Write your answer as a

\WY / / fraction.
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How many number sides does the dice
have?

6

What is the probability of it landing on
an even number? Write your answer as a

\WY / / fraction.
\,\_\‘ ,/
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-y

3
6
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How many number sides does the dice
have?

6

What is the probability of it landing on
an even number? Write your answer as a
fraction.
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Here is another bag of marbles.

It contains 4 different types of
marbles.

Again, imagine a marble is taken from
the bag without looking.

What is the probability that a
checkered marble is chosen?

Give your answer as a fraction.
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What is the probability that a
checkered marble is chosen?

There are 12 marbles:

2 striped marbles

1 spotty marble
6 checkered marbles

3 grey marbles

Impossible Unlikely Even chance Likely

0 ~ 1/4 1/2 ~ 3/4

|
Certain

1
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There are arbles:
2 striped
1 spotty
6 checkered 12
3 grey
| | | | I
I | | | |
Impossible Unlikely Even chance Likely Cert
0 ~1/4 1/2 ~3/4 1
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There are 12 marbles:
2 striped 6
1 spotty /
6 checkered 12
3 grey
| | | | I
I | | I |
Impossible Unlikely Even chance Likely Certain
0 ~ 1/4 1/2 ~ 3/4 1
.O
e
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There are 12 marbles:

2 striped
1 spotty 6 - L

6 checkered 12 2

3 grey

| | | | |
Impossible Unlikely Even chance Likely Certain

0 ~ 1/4 1/2 ~ 3/4 1




——————————————————————————————————————————————————————————————————

———————————————————————————————————————————————————————————————————

Impossible Unlikely Even chance Likely Certain

Oo/o ~ 250/0 500/0 ~ 750/0 ].OOO/O
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Wha’r is the probability that
the spinner will stop on part A?
Write your answer as
percentage

| | | | -
Impossible Unlikely e e Likely Certain

0 ~ 25% 50% ~ 75% 100%
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Wha’r is the probability that
the spinner will stop on part A?
Write your answer as

percentage
| | | | I
| I | | -
Impossible Unlikely Even chance Likely Certain
0 ~ 25% 50% ~ 75% 100%

25%
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Wha’r is the probability that
the spinner will stop on letter
D? Write your answer as
percentage

| | | | -
Impossible Unlikely e e Likely Certain

0 ~ 25% 50% ~ 75% 100%
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Wha’r is the probability that
the spinner will stop on letter
D? Write your answer as

percentage
| | | | I
| I | | -
Impossible Unlikely Even chance Likely Certain
0 ~ 25% 50% ~ 75% 100%

757
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“."{Probability written as percentages:
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Here is the same bag with 4
different types of marbles.

For the final time, imagine a
marble is taken from the bag
without looking.

What is the probability that a
grey marble is chosen?

Give your answer as a
percentage.
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Probability written as percentages|

What is the probability that a grey
marble is chosen?

12 marbles

3 grey marbles

Impossible Unlikely Even chance Likely Certain
0 ~ 25% 50% ~75% 100%
. )’

L .0
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Probability written as percentages|

What is the probability that a grey
marble is chosen?

12 marbles

3 grey marbles

Impossible Unlikely Even chance Likely Certain
0 ~ 25% 50% ~75% 100%
o .
' 257 - unlikely :
3 ¢

L . @



Excellent! Now let's review the lesson.
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A. Probability is about if ~ B. Probability is about if

something will happen in something will happen in
the past. the future.
C. Probability is about D. Itis achance that

time. something won't happen.
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A. Probability is about if ~ B. Probability is about if

something will happen in something will happen in
the past. the future.
C. Probability is about D. Itis achance that

time. something won't happen.
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There are twelve jellybeans in a jar. 7 are
orange, 1 is yellow and 4 are green.




------------------------------------------------------------------
~----------------------------------------------------------------‘

There are twelve jellybeans in a jar. 7 are
- orange, 1 is yellow and 4 are green.

What is the probability of picking an orange
jellybean?
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L A
There are twelve jellybeans in a jar. 7 are
- orange, 1 is yellow and 4 are green.
v What is the probability of picking an orange
jellybean?
| | | | |
I l | | |
Impossible Unlikely Even chance Likely Certain
A. Impossible B. Certain
C. Likely D. Even chance



——————————————————————————————————————————————————————————————————

L A
There are twelve jellybeans in a jar. 7 are
- orange, 1 is yellow and 4 are green.
v What is the probability of picking an orange
jellybean?
| | | | |
| | | | |
Impossible Unlikely Even chance Likely Certain
A. Impossible B. Certain
C. Likely D. Even chance
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There are twelve jellybeans in a jar. 7 are
- orange, 1 is yellow and 4 are green.

What is the probability of picking a yellow
jellybean?
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= ! T
R | Probability
S A
There are twelve jellybeans in a jar. 7 are
- orange, 1 is yellow and 4 are green.
v What is the probability of picking a yellow
jellybean?
| | | | |
Impossible Unlikely Even chance Likely Certain
A. Even chance B. Certain
C. Likely D. Unlikely
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L A
There are twelve jellybeans in a jar. 7 are
- orange, 1 is yellow and 4 are green.
v What is the probability of picking a yellow
jellybean?
| | | | |
| | | | |
Impossible Unlikely Even chance Likely Certain
A. Even chance B. Certain
C. Likely D. Unlikely
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There are twenty cookies in a jar. 10 are
chocolate chip, 5 are vanilla, 3 are strawberry
and two are chocolate flavour.
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There are twenty cookies in a jar. 10 are
chocolate chip, 5 are vanilla, 3 are strawberry
and two are chocolate flavour.

What is the probability of choosing a
chocolate chip cookie?

A.Q B.0.75

C.0.5 D. 0.25
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There are twenty cookies in a jar. 10 are
chocolate chip, 5 are vanilla, 3 are strawberry
and two are chocolate flavour.

What is the probability of choosing a
chocolate chip cookie?

A.Q B.0.75

C.0.5 D.0.25
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There are twenty cookies in a jar. 10 are
chocolate chip, 5 are vanilla, 3 are strawberry
and two are chocolate flavour.

What is the probability of choosing a vanilla
cookie?

A . 0b5 B 05

C.0.75 D.0.25
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There are twenty cookies in a jar. 10 are
chocolate chip, 5 are vanilla, 3 are strawberry
and two are chocolate flavour.

What is the probability of choosing a vanilla
cookie?

A . 0b5 B 05

C.0.75 D, 02D
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o 1

“t Probability written as fractions

———————————————————————————————————————————————

What is the probability
that the spinner will
stop on an even number?

A.

N

U
Nl—  wlr

1
3
C. 3
4
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o 1

“t Probability written as fractions

———————————————————————————————————————————————

What is the probability
that the spinner will
stop on an even number?

A.

N

U
Nl—  wlr

R
3
C. 3
4
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o 1

“t Probability written as fractions

———————————————————————————————————————————————

What is the probability
that the spinner will
stop on an odd number?

A.

N

U
Nl—  wlr

1
3
C. 3
4
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o 1

“t Probability written as fractions

———————————————————————————————————————————————

What is the probability
that the spinner will
stop on an odd number?

A.

2

U
NI wlr

1
3
C. 3
4
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%t Probability written as percentage | "

———————————————————————————————————————————————————————————————————

There are twelve marbles in a bag. 9 are blue,
3 are purple.




L]
3

——————————————————————————————————————————————————————————————————

G BN N NN BN BN NN BN BN BN BN BN BN SN BN B BN SN BN B BN SN B B BN N B B S N B B B SN B B S SN B B BN SN B B BN N B B BN SN B B BN SN B B BN SN B B B B B e e

There are twelve marbles in a bag. 9 are blue,
3 are purple.

What is the probability of picking a blue

marble?
A- OO/O B 750/0
C. 100% D. 50%
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There are twelve marbles in a bag. 9 are blue,
3 are purple.

What is the probability of picking a blue

marble?
A. 0% B.75%
C. 100% D. 50%
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There are twelve marbles in a bag. 9 are blue,
3 are purple.

What is the probability of picking a purple

marble?
A. 100% B. 75%
C.50% D. 25%
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There are twelve marbles in a bag. 9 are blue,
3 are purple.

What is the probability of picking a purple

marble?
A. 100% B. 75%
C.50% D. 25%






